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1 774K ® HFH %E T E RS 97 =3 24.56 51.11 ( 0.65)
2 6/5 # & ¥ BE AL 97 =3 24.84 51.63 ( 0.69)
3 /73 % ®M =@ AN HEHE 97 =3 24.80 51.72 (0.73)
4 6/6 m # HZEX —iF L) W] 97 =3 25.31 51.81 ( 0.63)
5 7/ 2 % E FPBREK EBEREAR 98 =2 24.97 51.83 ( 0.76)
6 5 4 1B E E ] HmE 97 =3 24.64 51.89 (0.71)
7 /5 #EI €7 EH RS ZEE 97 =3 25.27 51.95 (0.72)
8 5/ 5 & [E JII& EE HEXE 97 =3 24.68 51.96 ( 0.63)
9 5/ 6 &2 F mPHITR RERE 5 — 97 =3 24.65 52.10 ( 0.63)
10 46 B & S B NIIEd 99 =1 24.89 52.16 (0.71)
11 2/ 4 F0FxL 7 E 08 BIE; 98 =3 24.82 52.21 ( 0.61)
12 771 K BR EBA &A 3T 8% KBt 98 =2 24.99 52.22 ( 0.67)
13 6/ 4 #RI %E ME pr ) g 99 =2 25.04 52.24 (0.71)
14 5/ 3 K BrR /MR IEFR m{EBRZE 97 =3 24.85 52.28 ( 0.67)
15 6/3 B W BEEZKER ils = 99 =2 24.91 52.37 ( 0.63)
15 1776 B £ FH N BEX 97 =3 25.44 52.37 ( 0.67)
17 44 = E IO #HXK EHEFEE 98 =3 25.07 52.38 ( 0.62)
18 7/ 0 wE)l #x Fik #AR T Kkt 99 =1 25.08 52.53 ( 0.62)
19 6/7 3 K A EiR CILEE 98 =2 25.53 52.54 ( 0.65)
20 5/ 2 #ME)l £F FEH& HWAZEE 98 =3 24.99 52.59 ( 0.64)
20 59 B R EZARME INEF 98 =3 25.30 52.59 ( 0.69)
22 1/ 7 dtigE @+ X BJIEZE 97 =3 25.69 52.60 ( 0.63)
22 6/1 8] R B FEzh MR ERE 97 =3 25.09 52.60 (0.71)
24 51 = & it HRM BB 99 =2 25.56 52.61 ( 0.64)
24 /8 B M FB RS BEE 98 =3 24.47 52.61 ( 0.64)
26 6/2 & [ % BX FRAE 97 =3 25.26 52.64 ( 0.65)
27 4/ 8 F B ED H®HHE it 98 =2 25.96 52.65 (0.87)
28 5/ 7 #Z=)Il pHEEAER Bt 98 =2 25.24 52.66 (0.71)
29 4/ 2 H #H FiE BR g4 97 =3 25.18 52.69 ( 0.66)
30 4/ 5 K Br #EH K LR 97 =3 25.17 52.71 ( 0.64)
31 39 F Il HE HaR I 99 =1 25.13 52.72 ( 0.64)
32 41 F Il RE =K 97 =3 25.33 52.74 ( 0.63)
33 6/8 & ¥ ARHERE R EH 97 =3 25.52 52.75 (0.77)
34 1/6 &8 M ®™E KB =% 97 =3 25.29 52.79 ( 0.56)
35 41 % E HE 2 I8 37 S F0 97 =3 25.31 52.80 (. 0.78)
36 4/9 1% E HL Ez FEZE 98 =3 25.38 52.81 (0.63)
37 79 ® W &R B3 b4 97 =3 25.07 52.84 ( 0.67)
38 35 B BE XH& fEeMiL 97 =3 25.34 52.88 (0.71)
39 34 B B =1 BN &R 97 =3 25.51 52.93 (0.74)
39 3/ 71 & M Wy i BK=E 97 =3 25.38 52.93 ( 0.62)
41 40 & [ XK gl EET TS 98 =2 25.23 52.94 ( 0.59)
42 5/ 8 #Z)Il A fA BB 97 =3 25.07 52.95 ( 0.63)
43 2/2 ® R FR £K BXRER 99 =1 25.61 52.96 (0.72)
43 2/6 5 5 WA F B 98 =2 25.36 52.96 ( 0.60)
45 3/ 6 MxR)l &% i HXER 97 =3 25.51 52.97 ( 0.65)
46 3/ 1 %7 8 AW e iEsE— 98 =2 25.32 52.99 ( 0.67)
47 2/ 1 R # RS B &mE 97 =3 25.41 53.04 (0.71)
48 2/3 & E WMEH # )il 97 =3 25.57 53.05 (0.73)
49 3/0 & %1 LK X 21 98 =2 25.29 53.12 ( 0.61)
/8 BEE 2% X BEREEHR 98 =2 25.47 53.16 (0.67)
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51 43 B [E EN & KH 98 =3 25.07 53.18 (0.71)
52 2/ 9 #E)l FH KA #Am T Kkt 97 =3 25.55 53.24 ( 0.66)
52 32 W W®NEF EI B 99 =1 25.61 53.24 ( 0.70)
54 2/17T K IR RE Kih P52 98 =2 25.59 53.29 (0.73)
54 5/ 0 fZE)I #)1  H#= b 98 =3 25.83 53.29 ( 0.58)
56 2/ 8 = B BE E% X 99 =1 25.79 53.31 (0.62)
57 /15 B %R #E MiAH 97 =3 25.69 53.32 ( 0.69)
58 6/9 1/ E T EK ERER&R 98 =2 25.58 53.34 ( 0.66)
59 3/8 B E HLE HE BEX 97 =3 25.17 53.35 ( 0.65)
60 2/0 B E kit R Eipigeals 99 =1 25.72 53.41 ( 0.61)
61 6/ 0 K B IO 38hz ABERXS 97 =3 24.95 53.46 ( 0.59)
62 /1% M5 gA 2 99 =1 25.54 53.55 ( 0.65)
63 2/ 5 7 4B 12 @l 5E 97 =3 25.71 53.57 ( 0.68)
64 1/ 4 [ W R=Ae #FH E¥HNim 97 =3 25.81 53.76 ( 0.65)
65 /2 F % LA #% FEBEKAT 98 =2 25.85 53.79 ( 0.67)
66 /3 8 B E#EzZN SETE 98 =2 25.69 53.89 ( 0.76)
67 /75 % H EE Fi5 FRAPER 99 = 25.98 53.95 (0.74)
68 1/ 9 dtiBE || B ER=aE 98 =2 25.66 54.01 ( 0.60)
69 1/0 dtiBE EF =XIE BfR=aE 98 =2 25.83 54.06 ( 0.66)
70 3/ 3 %8 [ HE E FLERSMSM 98 =3 25.62 54.72 (0.71)
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